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In the two sets given below, Set-I provides the different levels of learmnggggﬁs%

our Personal Exams Gui

Bloom's Taxonomy, while set-II gives their examples and concerns. Match the two sets a
select from the options to indicate your answer :

Set-1
(Levels of Learning)

(a) Memory level
(b) Understanding level
©) Analysing level
(d) Creating level
Options :

@ (b ()
(L) a) @ (iii)
(2) (1) (i1) (ii1)
3) av) () @
4 ) (@) (v)
Options:

6453506396393, 1
64535063700, Z
B4E35069701. 3
B4E35069702. 4

@
(11)
(111)
(iv)

(d)

av)
av)
i)
(i)

Set-1I
(Examples)

Identifying examples of a given concept
Generating new 1deas
Recalling information

Isolating information into parts

Question Number : 1 Question Id : 64635017746 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
54635069699

1
BdE35069700. 2
B4635069701. 2
54535063702, 4

Question Number : 2 Question Id : 64635017747 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Diagnostic Evaluation ascertains

(1) Students performance at the beginning of instructions

(2) Causes and remedies of persistent learning problems during instructions
(3) Degree of achievement of instructional objectives at the end

(4) Learning progress and failure after instructions

Options:
645350689703 1
64535069704 2

B4E35069705. 3
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Options:

64535069703 1
64635069704 2
645350689705 2
4535089706, 4

Question Number : 3 Question Id : 64635017748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Among the following which one1s an example of instructional software?

(1) Audio podeast

(2) Printed material or book
(3) Radio talk

(4) Edusat

Options:

64535069707, 1
64635069708 2
64635069703 2
645350689710 4

Question Number : 3 Question Id : 64635017748 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR 0 O O SESIeH 193t F 3= 27

(1) ATl deare

(2)  Hod aweft a1 gEa
(3) i am



www.prepp.in

64635069710, 4 'repp

Your Personal Exams Guide

Question Number : 4 Question Id : 64635017749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which teaching aids enhance the skills like reading, histening and pronunciation?

(1) Audio-lingual teaching aids (2) Scientific teaching aids
(3) General knowledge teaching aids (4) Theoretical based teaching aids
Options:

B4635069711. 1
64635069712, 2
64535069713, 3
64535069714 4

Question Number : 4 Question Id : 64635017749 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

645350659711, 1
645350637 1z2. 2
B4E35069713. 3
B4635069714. 4

Question Number : 5 Question Id : 64635017750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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From the list given below identify the instructional events which form part of mé?,tRdeL

of a lesson plan. Select your answer from the options given below the list
List of instructional events :

(1) Gaining attention of students

(11) Prior knowledge of students

(i11)  Informing the learner of the objectives

(1v) Stimul ating recall of pre-requisite learning

(v) Checking the availability of reading material in the library.
(vi)  Eliciting the desired response

Options :

(1) @ ) )  av)
(2) (1) ) ) D)
(3) @ ) W (vi)
4) @ G @ @)
Options:

64635069715 1

64635069716 2

64535069717, 2
E4535069715. 4

Question Number : 5 Question Id : 64635017750 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535069715 1
45350689716 2
64635069717, 2
64535069718 4

Question Number : 6 Question Id : 64635017751 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Think-aloud procedure 1s

(1) a part of secondary source of data
(2) a technique used to investigate learner strategies and performance
(3) a strategy of testing learners’ aptitude by providing primary sources

(4) a necessary method in scientific research

Options:
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Correct Marks: 2 Wrong Marks: 0 prepp
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Options:

646350697193 1
64535089720 2
4535089721, 2
64635069722 4

Question Number : 7 Question Id : 64635017752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

Participant observation is a part of

(1) Philosophical research
(2) Mentalist Theory of language
(3) Mathematical research
(4) Ethnographic research

Options:

64535069723 1
64635069724 2
64635069725 2
64535089726 4

Question Number : 7 Question Id : 64635017752 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

64535069723 1 v
645350689724 2

4535089725 2

64535069726, 4
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Question Number : 8 Question Id : 64635017753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Flagiarism in research is

(1) Creative use of previous data

(2) Copying unscrupulously and making use of 1t

(3) Quoting someone and citing him/her

(4) Referring to previous data and working over it with new objectives

Options:

64535069727 1
645350897 2E 2
4535089729 2
64535069720, 4

Question Number : 8 Question Id : 64635017753 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

4535069727 1
64635069728 2
64535069723 3
E45350689720 4

Question Number : 9 Question Id : 64635017754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64635069731 1 prepp

64535069732, 2 Your Personal Exams Guid
64535069733, 3
64535069734, 4

Question Number : 9 Question Id : 64635017754 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535069731, 1
B4E35069732. 2
B4635069733. 3
64635069734, 4

Question Number : 10 Question Id : 64635017755 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Critical language testing 1n a research repaort 1s

(1) Testing language from an ethical point of view, revealing 1ts misuses
(2) Evaluating the stylistic characteristics of language

(3) Critiquing the ideology of the author

(4) Observing the gender role played by language

Options:

64535069735 1
64635069736 2
64635069737 3
6453506897328 4

Question Number : 10 Question 1d : 64635017755 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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84635089735 1 prepp
84635069736, 2 e
84635069737, 3
84635069738, 4

Sub-Section Number: 2
Sub-Section Id: 646350859
Question Shuffling Allowed : Yes

Question Id : 64635017756 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (11 to 15)
Cuestion Label - Comprehension

Unquestionably a literary life 1s for the most part an unhappy life, because if you have
genius, you must suffer the penalty of genius; and if you have only talent, there are so many
cares and worries incidental to the circumstances of men of letters, as to make life
exceedingly miserable. Besides the pangs of composition, and the continuous disappointment
which a true artist feels at his inahbility to reveal himself there is the ever-recurring
difficulty of gaining the public ear. Young writers are buoyed up by the hope and the belie:
that they have only to throw that poem at the world's feet to get back in return the laurel.
crown; that they have only to push as a new light in literature. You can never convince &
voung author that the editors of magazines and the publishers of books are a practical bods
of men, who are by no means frantically anxious about placing the best iterature before the
pubic. Nay, that for the most part they are mere brokers, who conduct their business on the
hardest lines of a profit and loss account. But supposing yvour book fairly launches, its perils
are only beginning. You have to run the gauntlet of the critics. When vou are a little older
vou will find that criticism is not much more serious than the byve-play of clowns in a circus
when they beat around the ring, the victim with bladders stung at the end of long poles. A
time comes in the life of every author when he regards critics as comical rather thar
formudable, and goes hus way unheeding. But there are sensitive souls that vield under the
chastisement and, perhaps after suffering much silent torture, abandon the profession of the
pen forever.

Sub questions

Question Number : 11 Question Id : 64635017757 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Literary life 1z unhappy because

(1) One has to carrv the load of being a genius while not being one
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64635069739, 1 P
64635069740, 2 o
64635069741, 3
64635069742 4
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Question Number : 12 Question Id : 64635017758 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Young authors aspire to

(1) Equate themselves to the established authors
(2) Remain content in their work only
(3) Achieve glory by their merit yet always in a hurry

(4) Become critics subsequently
Options:
£46835069743. 1
64635069744, 2
£4835069745. 3
£4635069746. 4

Question Number : 13 Question Id : 64635017759 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The perception towards the publishers and critics in the above passage is

(1) That of a scathing attack
(2) That of sympathy
(3) That of generosity

(4) That of cymicism

Options:
64z35069747. 1

B4E35069748. 2
64635069743, 3
645350639750, 4
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(1) Makes the author stoic to criticism
(2) Makes the author angry and lovely
(3) Turns the author to a buffoon

(4) Drives the author to cynicism

Options:

64535069751, 1
64635069752 2
64535069753 2
64535069754 4

Question Number : 15 Question Id : 64635017761 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The effective way of tackling criticism is

(1) To defend oneself through print media
(2) To be vocal about one's craft
(3) To become a critic of one's own art and start analysing its merit

(4) To be gracefully glued to the artistic exercise

Options:

64535069755 1
64635069756, 2
64635069757 2
64635069758, 4

Question Id : 64635017756 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (11 to 15)
Cuestion Label - Comprehension
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Sub questions

Question Number : 11 Question Id : 64635017757 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
aifafede sfter AameguT Zar 2 ik
(1)  <afEa & 9w 26 g0 9 9 FH H 91 g8 HE1 98 2|
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Options:
645350697393 1
64535069740 2
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Options:

45350689743 1
64535069744 2
64635069745 2
64635069746, 4

Question Number : 13 Question Id : 64635017759 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e eIy § YRRl AR SATetEenl % ufa geEfie w vE 2,

(1)  dF A=A =)
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(3)  SoEal H
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Options:

54535069747, 1
BdE35069748. 2
B4E35069743. 3
645350639750, 4

Question Number : 14 Question Id : 64635017760 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535069751 1

B4E35069752. 2
B4635069753. 3
64535069754, 4

Question Number : 15 Question Id : 64635017761 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535069755 1

B4E35069756. 2
B4E35069757. 3
64635069758, 4

Sub-Section Number: 3
Sub-Section I d: 646350860
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 64635017762 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Sinale Line OQuestion Option : No Obption Orientation : Vertical
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Which of the following are barriers to effective communication? 'repmp
(a) FPhysical noise (b) Semantic noise
(c) Psychological noise (d) Non-semantic noise

Choose the correct answer from the options given below

(1) (a), (b) and (d)
(2) (a), (b) and (c)
(3) (@), () and (d)
(4) (a) and (d) only
Options:
64635069759, 1
4635089760, 2

54535069761, 3
B4E35069762. 4

Question Number : 16 Question Id : 64635017762 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535069753 1
64635069760 2
64635069761, 2
RARZENEQTRT o
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Non-<content behaviours such as rate of speaking, loudness, tendency to ﬁ&QQPa
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pronunciation peculiarities’ are referred to as behaviour.
(1) Extra-personal (2) Animated

(3) Extra-linguistic (4) Involuntary
Options:

64635069763, 1
64535069764, 2
64535069765, 3
64535063766, 4

Question Number : 17 Question Id : 64635017763 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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g <l T &t A 2:

1) W dafFas (2 wiguiE
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Options:

B4635069763. 1
64535069764, 2
64535069765, 3
64535069766, 4

Question Number : 18 Question Id : 64635017764 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In a classroom, delayed feedback can happen due to

(1) Use of technology (2) Expanded communication
(3) Semantic noise (4) Particapatory environment
Options:

B4E350889767. 1

E4EZ5069768. 2
CAC OO T OO o
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Options:

B4635069767. 1
645350639768, 2
64535069763, 3
64535063770, 4

Question Number : 19 Question Id : 64635017765 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In analog communication, contents are considered to be

(1) Convergent (2) Static
(3) Physical (4) Ethereal
Options:

B4E35089771. 1
BdE35069772. 2
64635069773, 3
54535069774, 4

Question Number : 19 Question 1d : 64635017765 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

TG GYNUT H fore-arq <l HET STl 2:

()  afard (2) for
3)  Hifaw (4) A
Options:

B4635069771. 1
645350639772 2
64535069773, 3
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Match the following : 'repmp
Set-l Set-I1
(Communication elements) (Description of process part)
(a) Sender (1) Brain
(b) Receiver (i1) Electro-magnetic impulses
() Message (1)  The central nervous system
(d) Medium (1v) Sensory organs

Choose the correct answer from the options given below :

@ (b (c) (d)

(L @ (i) (11) av)
(2) ) @) v) @)
(3) av) @ (11) (111)
(4) @ v @ @

Options:

64535069775 1

45309776 2

B4E35089777. 3
B4E35069775. 4

Question Number : 20 Question Id : 64635017766 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64635069775 1

64635069776 2

B4E35069777. 3
B4E35069778. 4

Question Number : 21 Question Id : 64635017767 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the missing term out of the given alternatives

TEF, UGH, , WKL

(1) CMN
(2) UJI
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64635069751 3 prepp
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Question Number : 21 Question Id : 64635017767 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e fou o e & fraa wam i gid i
TEF, UGH, , WKL
(1) CMN
@  UdI
3 VIJ
4 LJT
Options:

B4E35069773. 1
64635069780, 2
54535069781, 3
64535069752, 4

Question Number : 22 Question 1d : 64635017768 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The sum of deviation taken from which of the descriptive statistical measure 1s always eq

to zero?

(1) Mean
(2) Median
(3) Mode

(4) Percentile
Options:
45350689783,
EdE350697 54,
6435069785
6435069706

W LM

NOiiection Niimboar * 22 Ohiection 1A * GARRENT 7762 Niiction Tyvnea: MCO Ontion Shiifflina * Na Diaenlav Oiriection Niimhboer - Ve
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PRt & & e e aifterd o @ R T e A A E T A P P

(1)  weEEH
(2)  HEATEAH
(3)  SgETEA
@) v HA

Options:
64535069753 1

BdE35069754. 2
B4635069785. 3
545350639756, 4

Question Number : 23 Question Id : 64635017769 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If x and ¥ are two positive numbers and x 15 25% greater than v, what 18 the value of

ratio 2 ?

x
(1) 0.75 (2) 0.80
(3) 1.20 @ 1.25
Options:

54535089787, 1
645350697588, 2
E4535069759. 3
B4E35069730. 4

Question Number : 23 Question Id : 64635017769 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

a3 x A y T T HE § W ay T 25% A 2 A 2w s B
X

(1) 0.75 (2) 0.80
(3) 1.20 @4 1.25
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Question Number : 24 Question Id : 64635017770 Question Type: MCQ Option Shuffling: No Display Questim'lﬂetpp
Single Line Question Option : No Option Orientation : Vertical oo

Correct Marks: 2 WrongMarks: 0

sonal Exams Guide

5% of the inhabitants of a village having died of malaria, a panic set in. During this, 20%
the remaiming inhabitants left the village. The population 1s then reduced to 4750. Find 1
number of original inhabitants

(1) 5000 (2) 5250

(3) 6250 (4) 7500
Options:
BAE350E89791.
E4E350E89792.
B4E35069792
B4AE35069794.

W DM

Question Number : 24 Question Id : 64635017770 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

forfl ra % 5% FarfeEi 6 werfan & gg @9 % &g 0 M HARG 8 T 39F AH S THETRE|
20% <R ME VEE FT O« U fSEe gforeraey ma el gear 4750 & | ma &
AferatoET $r wer 2

(1) 5000 (2 5250
(3) 6250 4) 7500
Options:

64535069731, 1
E4535069732. 2
BdE35069733. 3
B46350697394. 4

Question Number : 25 Question Id : 64635017771 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
If the simple interest on a certain sum for 1 year 3 months at 832—% per annum exceeds

simple interest on the same sum for 8 months at 7% % per annum by Rs. 45, then the surmr

(1) Rs. 600 (2) Rs. 800
(3) Rs. 6,000 (4) Rs. 8000
Options:

B4E350697395. 1
EdESENE9796 2
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(1) 600 %. (2) 800&%,
(3) 60004, 4) 8000,
Options:

54535069735, 1
B4E350697 36, 2
B4E35069737. 3
545350639735, 4

Question Number : 26 Question Id : 64635017772 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

If proposition ‘All pens are not pencils’ is taken to be True then which of the follow
propositions can be False?

(1) All pens are pencils (2) Some pencils are pens
(3) No pen 12 pencil (4) Some pens are pencils
Options:

645350697393, 1
54535063500, Z
B4E35069801. 3
B46350639502. 4

Question Number : 26 Question Id : 64635017772 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

gfc a% a@Eg ol U9 ufe A8 2 @ O "E forn Se at Refafiga § 9 e b e e
Fﬁ'ﬁ’l%:

(1) a9 a4 2 ) @) @ U = )
@) i ot U a2 @ %o U U
Options:

645350697393, 1
64535063500, 2
645350639501, 2
54535063502, 4

Question Number : 27 Question Id : 64635017773 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
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Given below are two premises with four conclusions drawn from them.

following conclusions could be validly drawn from the premises?

Premises :
(1) All fans are tubes
(i1) Bulbs are not tubes

Conclusions :

(a) Fans are not bulbs
(b) All tubes are fans
(c) Fans are bulbs

(d) No tube 15 bulb

Select the correct answer from the options given below :

L (@, b, (2) (a)and (d)

(3) (a) only (4) (b), (c) and (d)
Options:
45350689803,
4525089504,
64635069805,
64635069306,

W LM

Question Number
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

uuuuuuuuuuuuuuuuuuu

: 27 Question Id : 64635017773 Question Type: MCQ Option Shuffling : No Display Question Number : Ye

Al 21 ear ey feu mu 2, o = Feed ura fee e # 3 san gl 8 Fefefaa 8 8@ @

e 39 w9 T ww T ST w27

AgEaEE ;0 () i E)
(i) sl g A 2|
e . (@) 99 ¥od AF #|

by =off == 9d 2
() Ud sed 21
(d) i g w7 2
e o o, e ® & wdl 3 g
L @, 0, (2) (a) 3 ()

@ ¥ (a) @ B, () ¥ (@)
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Question Number : 28 Question Id : 64635017774 Question Type: MCQ Option Shuffling: No Display Questi('metppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

When subject and predicate of both the premises 1s same but they differ only in quantity

18 known as

(1) Subaltern
(2) Contraries
(3) Subcontraries

(4) Contradictories

Options:

54535069807, 1
64635069808, 2
64535069303 2
4535069310 4

Question Number : 28 Question Id : 64635017774 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S GHI ATIR AT 1 3Td A 98 mEE 2, Tohd 3R |en {1 2 a1 guenl TR ' ° S St

(1) 1T

(2  foufa g

@) 39-foufa ug

(4)  famar
Options:

64535063507, 1
E4535069503. 2
B4E35069503. 3
645350639510, 4

Question Number : 29 Question Id : 64635017775 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Identify the reasoning in the following argument : P

Y

repp

Personal Exams Guid

‘Writing on paper 1s similar to writing on the board'.

(1) Deductive
(2) Hypothetical
(3) Analogical

(4) Inductive
Options:
4535069511 1
E4E350E83812. 2
546535069812 2
B4535069514 4

Question Number : 29 Question Id : 64635017775 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fefifiad @ # 9% $i vgam fife: e 7w dEd 92 waEd & agm g

(1)  FEmEeEs
(2)  UliEReuATH
(3)  HEIATHS

(4) HATHATHS
Options:
6463506958111
64635069812 2
64E35069812 2
640350695814 4

Question Number : 30 Question Id : 64635017776 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



www.prepp.in

The proposition ‘All leaves are green’ is equivalent to which of the following !I‘E?CB"&II
(a) No leaves are green

(b) No leaves are non-green

(c) No leaves are in other color than green

(d) No green 1s leaf
Select the correct answer from the options given below :

(1)  (b), ) and (d)
(2)  (a) and (b)
(3) (b) only

@ () and (c)
Options:
4535089815 1
64635069816, 2
64635069817 2
64535069818 4

Question Number : 30 Question Id : 64635017776 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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a% ag ot ufval gfg 2 FEfifsa da o adb amm Faagea gz e exams i

(@ i ot ol Bl A 2

(b) o el zfafza 4 )

() iz W uxht gfid % =y s+ A 2
@ i ot g, a2

5y o o, Pt 6 3 7Y e

O O, e W@
@ (@b
@ % (a)

@ (bR ()

Options:
64535069515 1

B4E35069816. 2
B4E35069517. 3
545350639515, 4

Sub-Section Number: 4
Sub-Section Id: 646350861
Question Shuffling Allowed : Yes

Question Id : 64635017777 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (31 to 35)
Cuestion Label - Comprehension



www.prepp.in

Prepp

Consider the following table that shows the total number of tickets sold of fivemewnes P,

R, S and T, across two cinema houses A and B on a particular day. In accordance with
table, answer the questions that follow (Question 31-35) :

Sale of Movie Tickets Cinema house wise
Cinema
Movies
A B
P 200 300
Q 350 400
R 250 050
5 300 o250
T 400 250

Sub questions

Question Number : 31 Question Id : 64635017778 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The number of tickets sold of movie T at Cinema house A is what percent of the number
tickets of movie P sold at Cinema A?

(1) 220% (2) 200%
(3) 210% 4) 190%
Options:

64635069513, 1
545350639520, 2
64535069521, 3
E4535069522. 4

Question Number : 32 Question Id : 64635017779 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What 1s the total number of tickets sold of movies @ and R together at both the Cinema:s

and B together?

(1) 1050

(2) 1200



www.prepp.in

64635069825 3 prepp

64635D6"3826 4 Your Personal Exams Guide

Question Number : 33 Question Id : 64635017780 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1g the ratio of the number of tickets sold of movie P at Cinema B to the number

tickets sold of movie @ at Cinema B?

(1) 2:8
() 3:4
(3) 1: 2
(4) 3:5
Options:

54535069527, 1
645350639528, =
E4535069523. 3
B4E35069530. 4

Question Number : 34 Question Id : 64635017781 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

What 1s the difference between the total number of tickets sold of all movies together
Cinema A and the total number of tickets sold of all movies together at Cinema B?

(1) 180 @ 170
(3) 150 4) 160
Options:

545350695321, 1
645350639532, 2
54535069533, 3
EdE350698524. 4

Question Number : 35 Question Id : 64635017782 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

What 1s the average number of tickets sold at Cinema B for movies T and S together

1) 360 @) 320
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Question Id : 64635017777 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Corriprerensior
Questions: No

Question Numbers: (31 to 35)
Cnaesticn Label | Comprehension

frmferfiga aiferam ut fomm Fifse, S v fasm o7 o AR - v o e - &1 8§ 9= feedi-i
AR, wH AR A % fewd i o qe f bl guid 21 g aifas ® aEn Qe T usEi (e 6t
31-35) % I difo:

formram fen-fewdl & foshr
e femTER
q Eil
qi 200 300
| 350 400
AT | 250 350
| 300 350
a 400 250

Sub questions

Question Number : 31 Question 1d : 64635017778 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

frEE-v w feen-41 $i el i 15 fewa i gem = gfawa FAaEr-v w en-d 6 fB5Eh
femrel i wwean i qomr § forar an?

(1) 220 widwd (2) 200 yfdsE
(3) 210 yfa=ma (4) 190 9idwEa
Options:

64535069513, 1
B4E35063520. 2
BdE35069821. 3
B4E35069522. 4

Question Number : 32 Question Id : 64635017779 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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aHI FrmmErRi-v @i sfi 1 e = fFen-ag Al W—mﬁﬁﬁﬁnﬁﬁﬁaﬁlwﬁggggﬂ

(1) 1050

(2) 1200

(3) 1250

(4) 1350
Options:

645350639523, 1
E4535069524. 2
BdE35069825. 3
645350639526, 4

Question Number : 33 Question Id : 64635017780 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

formrer-sft o feen-t it fash & 78 el & g w1 aquE e w fhen-ay w0 feft F
fodl i gemT § forae 2:

aQ 2:3
@ 3:4
@ 1:2
@ 3:5
Options:

B4E35069827. 1
64635069528, 2
54535069523, 3
64535063520, 4

Question Number : 34 Question Id : 64635017781 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fErarer-v o @ faen w0 adt feerdi 6 Bkt 6 13 el 6t o gen st fmarr-aft o ga fben
ot fiecdi it fosht it 73 fowdt i v gen F e v e 27
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Question Number : 35 Question Id : 64635017782 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

formrer-aft ot fen-2t =i um fi e e skt i 2w i Aoa e e 27

(1) 360 (2 320
(3) 300 4) 840
Options:

645350639535 1
64535063536, 2
B4E35069837. 3
B4E35069535. 4

Sub-Section Number: 5
Sub-Section Id: 646350862
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 64635017783 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Which of the following statement(s) is/are True in respect to ICT?
] i ICT is an acronym that stands for information and competitive technology.

Q : The effective use of ICT to support learning in the inclusive education exempli
good teaching for all learners.

(1) P only (Z) Q only
(3) Both P and Q (4) Neither P nor @
Options:

B4535069533. 1
645350639540, 2
645350639541, 2
54535069542, 4

Question Number : 36 Question Id : 64635017783 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Rt i & S /A0 s o @ & % o # ad 250 prepp
By i A3 H A v giEed 2, o e A v Fefifefa sEarsi (g v g gl
T 21
Q - warash fen § waftrm oude % foau e o & & swE I oot B F foe us o
fSrror =71 32T 2 |
1) %« (P) (2) & (Q)
@ @) @ A @ Ad@ @ ATd Q)
Options:

54535069533, 1
645350639540, 2
54535063541, 2
B4E350698542. 4

Question Number : 37 Question Id : 64635017784 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
What 1s spyware in respect of computer software?

(1) Software that aims to gather information about a person without his'her knowlec
and that may send such information to another entity

(2) Legitimate software that allows companies to monitor and supervise the computer:
their employees from a central location

(3) Software used to disrupt computer operation or gain access to private compu
systems

(4) A computer program hidden within another seemingly harmless program t
produces copies of itself and inserts them into another programs or files

Options:
4535089542 1

BdE35069544. 2
64635069545, 3
64535063546, 4

Question Number : 37 Question 1d : 64635017784 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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FR ATTeaaT & Hed H oqrgagt 991 27 rrepp

(1) =2 "ivee, (9% 389 U oafdd o a1 4 30kl STHF & 6991 3@ o &1 2 3 a8
SR gl S AR w9 g 2 |

(2) o2 99 Aiweady, S FUHAl P UH w0 q Ik FHANAT & w1 R SR od
ol 2|

(B @8 G, Smew weger % ufterer % fFued w1 Bl ween yonelt 9% uge 9m W f
3yEn o simar 2 |

@) w9 g AmEl Sum % ddta fen v were dium, st e st gfafaftar s
AN 9 G A1 B3 H UaY a2 |
Options:
64835069843, 1
64835069844, 2
64635069845, 3
64635069546, 4

Question Number : 38 Question Id : 64635017785 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following best describes a wila?

(1) A system that allows users to add information onto a website but does not char
any pre-existing information

(2) A system that allows collaborative modification of its content and structure direc
from the web browser

(3) A system that serves as a publically accessible personal journal for an individual

(4) A system that monitors the modification of content within a blog

Options:

64535069347 1
E453L0E934E 2
64535069349 2
64535069850, 4

Question Number : 38 Question Id : 64635017785 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fefafiaa @ o +9 fadr (WikKi) =1 399 fagu 2ar 2:
(1) % yonell, St IwEiTRai] 1 U daEmEe 91 g Sied adt 8, <feed qd | feremm frdt oft 1
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64635069847, 1 P
64635069848, 2 o
64635069849, 3
64635069850, 4

repp

Personal Exams Guidk

Question Number : 39 Question Id : 64635017786 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Anjali's teacher uses VLE, a software tool designed to deliver courses online. The acron

VLE stands for

(1) Video Learning Environment
(2) Visual Learning Environment
(3) Virtual Learning Environment

(4) Visual Local Environment
Options:
B4535069551. 1
B4E535069852. 2
645350693853 3
E4E350839554, 4

Question Number : 39 Question Id : 64635017786 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SAstelt #1 o A Tt WeE F F fore dun fRg e v Atvede U o ud § 0 3TN
FA1 2 | F21 uitaell & ver 3 & =1 a2

() &l @i s
2 oz afin ez
(8)  adwd | FHaEEEHE
@)  fogwa dea FaEEH

Options:

64535069851, 1
64535069352 2
4535089852 2
645350695854 4
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What 1s the decimal equivalent of binary number 11001107 'repmp
(1) 102
(2) 204
(3) 153
@ 51
Options:

54535069555 1
B4E35069856. 2
B4635069557. 3
54535063555, 4

Question Number : 40 Question Id : 64635017787 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fg-= b 1100110 %1 A9gcH 9T HHT 27

1 102
@ 204
@) 153
@ 51
Options:

54535069555 1
B4E35069856. 2
B4635069557. 3
54535063555, 4

Question Number : 41 Question Id : 64635017788 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which are the examples of potential kinetic energy? Select your answer ﬁ*[:-rr !l%glﬂc

Your Personal Exams Guide

given below :

1) Water that 1s behind a dam

{11) Radio signals

{111)  An airplane idling on the runway
(1v) A satellite before it 1s launched
(V) A coiled spring

(vi)  Heat harnessed from the oceans
Options :

(L) @, ), av) and (V)
(2) o, @), (1) and (vi)
3 (@), @), Gv) and (v)

) @), Gv), (v and (w)

Options:

64635069359
64635069360,
64535069361,
64635069362,

W L

Question Number : 41 Question Id : 64635017788 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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A fow 7o, ey W & v I Y
i) 19 & dI &1 ST

Gi)  fedl ga%a®

(i) eIy W ULl FAT foHH

(v) vZuu g gd feufd 4 sz

(v)  Fafem fEm

(vi)  HEEPTL ¥ Ieq IS
farsrey

1O @, i), Gv) J (V)
@ ), @), (i) A (vi)
@) 4, i), (v) #W (V)
@ @), (v), ) S (Vi)

Options:

64535069359
4535083260,
64635069861,
64635069862,

W LM

Question Number : 42 Question Id : 64635017789 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Statement I :  The Millennium Development Goals were adopted in the United Nations
the year 2010

Statement II: Developing a global partnership for development was one of the Millenmnis
Development Goals.

Which of the above statements 1s/are correct?

(1) Only I
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64635069865 3 prepp

54535063566, 4

Question Number : 42 Question Id : 64635017789 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

wH -1 qg#d Uz H 9y 2010 d wgeife fFwm as oif feg me 9

U - I e & T Afvas aeed # [aefha s gezafe e agt § 9 v agy
A FUHI H H AT/ A s 9@ 237

1) @)

@ | (1)

@ (@A aA
@  ddr @& )

Options:
64535069563 1

EdE35069864. 2
E4635069565. 3
54535063566, 4

Question Number : 43 Question Id : 64635017790 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following conferences/summit 1s also known as UN Conference

Sustainable Development (UNCSD)?

(1) The Stockholm Conference, 1972
(2) The Rio de Janerio Conference, 1992
(3) The Johannesburg Summit, 2002

(4) The Rio + 20 Conference, 2012
Options:
4535089567 1
4035069868, 2
64c35069869. 3
64035069870 4

Question Number : 43 Question Id : 64635017790 Question Type MCQ Option Shuffling: No Display Question Number : Ye

C ocmral ~ 1 P mm N 1 mtm Nt mem s Nlm Nt omem N ettt mem s AN et o]
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(1)  wiwem Fied, 1972

@  frear 2 oefiedt aoiem, 1992
(3)  SirEwweri frae g, 2002
(@ el +20 geE, 2012

Options:

64535069867, 1
64635069868, 2
64535069369 2
E453L0E9E70 4

Question Number : 44 Question Id : 64635017791 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In the formation of surface Ozone, which of the following do play an important role?

(a) Oxides of mtrogen
(b) Oxides of sulphur
(©) Sunlight

(d) Carbon monoxide

Choose the correct answer from the code given below :

1) (&), b)), ©
2 () k) @
@) @ © @
@) (a), b)

Options:

64535069371, 1
45350689372 2
64635069872 2
64535069874 4

Question Number : 44 Question Id : 64635017791 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Sinale Line Question Option : No Option Orientation : Vertical
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Hadl e A1 Rifiif § Feafaiga § 3 99 ey aite fw #0 gggpg

(1)  ARYSH & ATFRSH

@)  Hew % wAiFuEe

(3) o4 w g

(4)  FEA AAEAREE

A=l fau T, 2 d | wE W gAY

1 (@, ®), @
@ O, © @D
@ (@, ), @
@ @ 0 d

Options:

64635069871, 1
64535089372 2
E453L0E9E72E 2
64535069874 4

Question Number : 45 Question Id : 64635017792 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following belongs to the category of geophysical hazards?

(1) Infestation (2) Awalanches
(3) Invasive species (4) Diseases
Options:

645350639575, 1
B4E3506987E. 2
B4E350639877. 3
646350639575, 4

Question Number : 45 Question Id : 64635017792 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fefafiga d o =57 vifas-wiiirs aat & aof | s 27



51655005877, 3 prepp

54535063575, 4

Question Number : 46 Question Id : 64635017793 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
GIAN (Global Imitiative of Academic Networks) has been launched by Government of In
in order to

(1) Encourage Indian Scholars to learn abroad

(2) Discourage Indian Scholars from researching in India

(3) Encourage global scholars engage with their counter parts in India
(4) Encourage global scholars to engage with Indian Scholars abroad

Options:

64535069873 1
64635069880 2
64535069881, 2
4535069332 4

Question Number : 46 Question Id : 64635017793 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T TCHE 5T 120750 . H, (Teliaa sARnfza ate s deaad) + oy + 1 3299 2:

(1)  urdiE A=g@Al # fagy O [En agu #6 % [0 gieanfzd #@1 |

(2)  WRAE SASETIA] F ARG | W9 T A Fdcanied w1

()  Afva® A=aAl F WRG | I auaraal & @ fae 8 1 F o genfza &)
@  Afvas woaed I gy § yrda asddarsdl & my b wEd w1 % fo dienfza w5

Options:

645350695749 1
64635069880, 2
64635069881, 2
64635069882, 4

Question Number : 47 Question Id : 64635017794 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following forms a necessary component of Conventional Education Syst
iU i bt |
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64635069854, 2 prepp
64635D6"3885 3 Your Personal Exams Guide
64635069886, 4

Question Number : 47 Question 1d : 64635017794 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Fefifaa § 9 =9 9 § e g o o AEvas ueE 2t

(1)  g&a=hl & HiEA (2) Tz o d@rgn
(@)  faaa | dirg (4)  AIeTETHS Rl & HIEE H e
Options:

B45350695583. 1
BdE35069884. 2
E4635069585. 3
54535063586, 4

Question Number : 48 Question Id : 64635017795 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following five year plans of India has given special emphasis on “Educati
and Manpower”?

(1) Third Five Year Plan (2) Fourth Five Year Plan
(3) Second Five Year Plan (4) Fifth Five Year Plan
Options:

64535069557, 1
645350635858, Z
B4E35069889. 3
B4635069530. 4

Question Number : 48 Question Id : 64635017795 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Fefefiga 9 @ wra $i foem gomdfa gemn | e S ame afda’ o faem ae fean mn 2

1) el e AT (@) el deata dieEr
() ol g=EdE A (4) Rl gEEdig JeET
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Question Number : 49 Question Id : 64635017796 Question Type: MCQ Option Shuffling: No Display Questic'metppe
Single Line Question Option : No Option Orientation : Vertical oure

Correct Marks: 2 WrongMarks: 0
Brain drain problem which was dominant in the maddle of 20t Century in India 1s indicat
of which one of the following aspects?

ersonal Exams Guide

(1) Lack of adequate facilities for advanced study and research in India

1) The capacity of the developed nations to buy the talent at a price beyond the means
the developing nations

(1) Increase of population and under utilization of human research
Choose the correct option from below

(1) Only () and (i)
(2)  Only (i) and (i)
3 Only @)

4)  Only (i) and @i)

Options:

64535069891, 1
64535069892 2
646350698393 2
64535069394 4

Question Number : 49 Question 1d : 64635017796 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Wi #2047 wiaredt & aea § yarEt @ giawt v e Fetaaa 8 o e uw w afees

() N H I AEH AN wig &g uATa gl w1 e |

Gi)  fawfoa 2ui 6 3o car o gfow-s i sman, o faemsfia 2 & g 7 98 o)
(i) SHEEATH gfg A ARE gEEdl w1 Ad9-IRSH

1 R o frewedi # & o Brees g

) F&« @) R (i)
@  FAd (i) o (i)
@ %A (i)
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Question Number : 50 Question Id : 64635017797 Question Type: MCQ Option Shuffling: No Display Questi('metppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

The premier argamsation established in India to deal with capacity bullding and researck
planning and management of education in India and South Asia is

(1) ATU (2) SAARC University
(3) NUEPA (4) Nalanda University
Options:

6453506395395, 1
B4E35069836. 2
B4E35069537. 3
6453506395395, 4

Question Number : 50 Question Id : 64635017797 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

WRd &A1 efor uten | frn F e on geeq | awar He T g 3R O Wi J cfu |
1§ WS AT 2

Q) TRy (2) @ ZRAREE (SAARC University)
(3 ugidiu, @) Arce ffvaeme
Options:

645350695395, 1
64535063536, Z
E4535069537. 3
E4E35069535. 4

PART Il Econorucs

Section Id : 646350392
Section Number : 2

Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 94
Number of Questionsto be attempted: 94

Section Marks: 200
Display Number Panel: Yes

Group All Questions: No
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Match List-I with List-II : 'repp
List-I List-II
(a) Various combinations that a (1) Indifference map
consumer ¢an purchase
(b) Various combinations of two (1)  Indifference curve

commodities providing equal
satisfaction to consumer

(¢) A set ofindifference curves (111)  Budget line

(d) Point of tangency of a budget line (iv)  Consumer’s equilibrium
on an indifference curve

Choose the correct option from those given below :
1. (a)1); (0)ii); (e)iv); (d)—1id)
2. (a)-(v); (b)ym); (0)-1), ()-G1)
3. (a)-); (b)-(un); (e)-(v); (1)
4. (a)y-(u); (D)-); (¢)-(1); (d)-av)

Options:

64535069893 1
64535069300, 2
6453506893901, 2
64635069302, 4

Question Number : 51 Question Id : 64635017798 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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-1 &1 GeE-11 & 91y GAfe Hifem - prepp
-1 -1
(@) fafe waem, SR pawa R Iwaie ()  SEREH AFRE
(b) Tl axgelt & fafta S, of Sudien (i) SFRWE aw

o T G ver B &
(¢) SFRM 99! &1 9g=y (iii)  §olc ¥@r
(d) SFHE P W W P WR-feg (v)  IUHE &1 Sqad
Te! fiwea giu

1. (a)-@); (0)-); (¢)-(v); (d)~(11)
2. (a)y-(v); (b)-(u); (c)-(), (d)-)
3. (a)-Q); (b)-(b); (e)-(v); (D)D)
4. (a)-(m); (b)-(1u1); ()=(1); (d)-(1v)

Options:

64535069399 1
64535069200, 2
646350693901, 2
64535069302, 4

Question Number : 52 Question 1d : 64635017799 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which of the following statements are true regarding Cobb-Douglas %ﬁ%&ﬁm
function?

(a) It is long peniod production function
(b) It 1s short period production function
(c) It 1s based on increasing refurns to scale

(d)  Output elasticities with respect to factors are constant

Seleot the correct option :
1. (a)and(c)
2. (a)and(d)
3. (b)and(c)
4. (¢)and(d)
Options:

B4E35069503. 1
64635069504, 2
545350639505, 3
64535069306, 4

Question Number : 52 Question 1d : 64635017799 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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HI9-STEY JATG e & IR § Fofafea § S sm-ar sy S g ? "epp

(a)
(b)
(©)
()

g o 3afY &1 IUGH Bad ¢

g AY A BT IG Be o

g UHF R 954 Uidwd R neid 8
PRI & e I T FRR B &

el fdwey gFu

I

4.

Options:

(a) 3R (c)
(a) 3R (d)
(b) $R (c)
() #R (d)

64535069303, 1
54535069304, 2
B4E35069505. 3
E46350695906. 4

Question Number : 53 Question Id : 64635017800 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following methods of selecting a strategy is consistent with risk averting

behaviour?
1. If two strategies have the same expected profit, select the one with smaller
standard deviation
2. If two strategies have the same standard deviation, select the one with

smaller expected profit

- rb o ot T | 1Y (S . | I 1 L | Y | L LSRG . [y [ PRt 1 Y R SR Y b [ | SN LN ] 1 |



84655089907, 1 prepp

54535063508, 2 Your Personal Exams Guid
545350639503, 3
64535069310, 4

Question Number : 53 Question Id : 64635017800 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frafifed & 2 wrify & 907 St oF-d Ry Sifem fFar seer & @y 9w 82

fe; &t WAl ®1 TR THF aTH 8, 31 TgoR A fage ard @i g7
2. i3 WEEl ST U= 9 Aae 5, 3 TR aal arH ard &1 gH
3. g & WEE &1 9u A faEe 8, at R & R o ae ot g
4. e g oEioE & vanRa s @ g & SR o fdeeas aa ot 9o

Options:

64535069307, 1
64535069908, 2
64635069303 2
645350689910 4

—

Question Number : 54 Question 1d : 64635017801 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Under non-cooperative games, 1t 1s

[t

essential to understand one’s opponent’s point of view
2. not essential to understand one’s opponent’s point of view

3. essential to understand one’s opponent’s point of view and to deduce his
likely responses accordingly

4. essential to understand one’s opponent’s likely responses
Options:
64835069911, 1
64835069912, 2
£4835069913. 3
64635069914, 4
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A Bisiel & Harid prepp
3= viaueh & ¥ & THIET SMaws &
2. U viauel & ef¥e o gHgET srawae el 8

3. o viquel & =B FH THEET SR IuD! WuIRG Srgfparst F SEER
AT ST TS 8

4. v vfguel St THIfaa SFfeanait & HgET Sawa® €
Options:
E4E350849911 1
4525089012, 2
453250890132 2
46250894014 4

—

Sub-Section Number: 2
Sub-Section Id: 646350864
Question Shuffling Allowed : Yes

Question Id : 64635017802 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (55to 57)
Cuestion Label - Comprehension

Direction : Go through the following paragraph and diagram and answer the question
given below :

Monopoly charges a price above marginal cost, not all consumers who value the good ¢
more than its cost, buy it. Thus, the quantity produced and sold by a monopoly 1s below th
socially efficient level. The deadweight loss represented by the area of the triangle betwee
the demand curve and the marginal cost curve.

F 3
¥
F
\ /MC
& [
Brice I /}g
Dremand Curve
ME
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What price will be charged under monopoly?

1. OF
3 XE
3. OE
4. OG

Options:
645350693915 1

B4E35069516. 2
B4E35069917. 3
645350639515, 4

Question Number : 56 Question Id : 64635017804 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which 1s the socially efficient level of production?

. &x
2. OX°
3 %
"I

Options:

64535069919 1
64635069920 2
64535069921, 2
6453506893922 4

Question Number : 57 Question Id : 64635017805 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Deadweight loss 1s represented by the area of

1. X4
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84635089923, 1 prepp
84635069924 2 s
84635069925 3
84635069926, 4

Question Id : 64635017802 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (55t0 57)
Cuestion Label - Comprehension

fdw : Fafafaa srroe ok sme &1 ufgu aut fiw o wy & SR i :

THIUeR S arrd 9 3ifie 21 3 9t IuHiEa, of 9% Bt T B Hag @
W%%mm%lﬁ@ﬁ%mmmﬁgﬁﬁw%m:
FIE TR Y A1 2t 81 91 9% SR g1 and 9% & 9 B @t 47 '3s 9 a3 3
g1 &1 ufaffae s 2l

Sub questions

Question Number : 55 Question Id : 64635017803 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

USSR & 3aTia o1 Hed a4d & sam?
1. OF
2. X¢
3. OF
4. OG
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preee

JIGH 1 FIHIS ©U S HRd TR HH-91 82 S .
i. @F
2. v
3. AX
4. X
Options::

645350693913, 1
B4E350895320. 2
B4E350695921. 3
6463506395922, 4

Question Number : 57 Question Id : 64635017805 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

forgeT 87 'S8 dc A’ &1 ufafita sarg?
. A0
2. KBex*
3. OX'4E

4.  BAC

Options:

64535069923 1
6453506893924 2
64535069925 2
64535069926, 4

Sub-Section Number: 3
Sub-Section Id: 646350865
Question Shuffling Allowed : Yes

Question Number : 58 Question Id : 64635017806 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

PR Y D Y. TR W ¥ R Y D .
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The firms are competitive and profit maximizing the demand curve for Eﬁﬁpr
deterrmned by

1.  the opportunity cost of workers” time

2. the value of marginal product of labour
3.  offsetting income and substitution effect
4. the value of marginal product of capital

Options:
B4E35069327.

1
BdE350695928. 2
B4E350695923. 3
54535063530, 4

Question Number : 58 Question Id : 64635017806 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

BH ufaelf ek aiftieds oty 597 arell & o ae g 98 =1 5 9% Fuffva fear s
87

. Hog & THY B ER-AFTd gRI

2. oM % HHid IdE B Hed §RT

3. UAeRe 39 3R RFEYFd yyE gRT
4.  USht % Huid ITOE & g g

Options:

64535069927 1
453506893928 2
64635069929 2
64535069920, 4

Question Number : 59 Question Id : 64635017807 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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General equilibrium analysis determines prepp

Your Personal Exams Guide

1.  prices and quantities 1in all markets simultaneously

2. prices and quantities in all markets simultaneously and explicitly takes
feedback effects into account

3. feedback effects

4. prces n all markets

Options:

64535069931, 1
6453508939322 2
4535089922 2
64535069924 4

Question Number : 59 Question Id : 64635017807 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AR S fazai i s g
1. 9 SRl A Temar gt SR Al et

2. Tt SOR H veay gt 3R AEe B 3R Wy ¥U | vfagy wisds) B
=fPTra wEan 2

3. ylag® puEi @
4, gt IRl | gl @l

Options:

645350689921, 1
64535069922 2
64635069923 2
64635069934 4

Question Number : 60 Question Id : 64635017808 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Pareto’s marginal condition for efficiency in composition of output (product=mix)
requires

1.  MRTS}, =MRTS] , =MRTSZ,
2. MRS, =MRS;,=MRS;,
3. MRTP, , =MRS}, =MRS; ,

4. MRTS!,=MRS:, =MRSZ,

Options:

64635069935 1
64535069936 2
645350689927 2
4535089928 4

Question Number : 60 Question Id : 64635017808 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fonfa (aeg-fyyon &t Sva=1 8 2 &1 deid <2 & forg amawe

1. MRTSY, = MRTS/, =MRTS?
2. MRS:,=MRS},=MRS:,
3. MRTP, , =MRS:, =MRS%,

4. MRTSY,=MRS? =MRSZ,

Options:

64635069935 1
64535069936 2
645350689927 2
64535069925 4

Question Number : 61 Question Id : 64635017809 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

5t MMAaviivea s D VWAl v mrtmnew MM Aavlo~ - N
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The inconsistency of which one of the following criteria i1s labelled as E&%R _
Pal.adox? our Personal Exams Guide

1. Little criterion
2.  Pareto criterion

3.  Bergson cnterion

4, Kaldor-Hicks criterion

Options:

4535069929 1
64535089940, 2
64635069941, 2
64535069942 4

Question Number : 61 Question Id : 64635017809 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

FFofefea & 3 g a1t 31 eRiTaar &1 R teiey (Rdew! {tuvs) & Tu d
e fe man 82

1. feca s

2. TR HER
3. i B
4. et aad

Options:

64535069939 1
646350699240, 2
64535069941 =2
64635069942 4

Question Number : 62 Question Id : 64635017810 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Why do individuals act in nskier ways after being insured? '

Y

repp

Personal Exams Guid

1.  Due to the problem of adverse selection
2. Due to the problem of false confidence
3.  Due to the problem of moral hazard

4.  Due to the problem of screening costs
Options:
64635069943 1
64635069944, 2
64635069945, 3
64635069946, 4

Question Number : 62 Question Id : 64635017810 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Sifa F & 915 e &1 ofe SifaH aiiel 3 1 H3d 87
1. vidod 9o 3 GH S SR
2. TR eIy St 9HET & SR
3. Sfde TR @ 9H & HRO

4.  E-ANTE B SHT & HROT

Options:
645350693942 1

BdE350695944, 2
B46350695945. 3
545350639546, 4

Sub-Section Number: 4
Sub-Section Id: 646350866
Question Shuffling Allowed : Yes

Question Id : 64635017811 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Ohiection Nliimhere - (A2 tn AR)
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Direction : Read the passage given below and answer the questions that follow Jep

r

Suppose that for a particular economy for some time period, investment was equal to 1(
government expenditure was equal to 75, net taxes were fixed at 100 and consumption (
was given by the consumption function :

=23 Fl.5kn

where ¥ p 1s disposable income and ¥ is GDP.
Sub questions

Question Number : 63 Question 1d : 64635017812 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
What 1s the level of equilibrium income (¥)?

1. 700
2. 600
3. 830
4. 800

Options:
64z350693947. 1

E46350695948. 2
64535069543, 3
545350639550, 4

Question Number : 64 Question 1d : 64635017813 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the value of the government expenditure multiplier % ?

L. 5
2. 4
3. 6
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Question Number : 65 Question Id : 64635017814 Question Type: MCQ Option Shuffling: No Display Questi('metppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Your Personal Exams Guide

What 1s the value of tax multipher i—; ?

1 -3
2. =2
3. 5
4 -4

Options:

64535069955 1
64635069956 2
645350689957 2
4535089958 4

Question Id : 64635017811 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (63 to 65)
Cnaesticon Label | Comprehension

fder - Fufefag ofi=de ot ufew ik feu o vy & 3= ifv

O @, U A2 sideraw & oo Ioamafy & foru Rawr 100 & SO o1, 9@l & 75 & S0
o1, frad &3 &1 100 W Fud far man o1 3R IUHT Bee gR1 SUH (C) o war ur

C=25+08Y5
oTel ¥, e emg &R 7 oft € ot 21

Sub questions

Question Number : 63 Question Id : 64635017812 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

T 3T (V) &1 FTER 87
|8 700

2 ahn
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p
64635069948, 2 prepp
64635@6'9949 3 Your Personal Exams Guide
84635069950 4

Question Number : 64 Question 1d : 64635017813 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

WHR! T [0S % 1 0 1 87

Options:

64535089951, 1
54535089952 2
64635069953 2
64535069954 4

Question Number : 65 Question Id : 64635017814 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

AY
P DG | | T

] -3
2 =3
3 =3
4. 4

Options:
64535069955 1
64635069956 2
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Question Number : 66 Question Id : 64635017815 Question Type: MCQ Option Shuffling: No Display Questicn Nerrmber s e
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List-I List—II
(a) Accelerator and multiplier (1) Modigliani, Ando and
inferaction Brumberg
(b) Cambndge approach (11)  Akerlofand Yellen
(¢) Life cycle hypothesis (111)  Paul Samuelson
(d) Efficiency wage model (iv)  Alfred Marshal and A. C.
Pigou

Choose the correct option from those given below :
L. (a)-); (b)-(v); (¢)-(u1); (d)im)
2. (ay-(); (b)-Qv); (e)-(); (D))
3. (a1 (b)H1); (o)1i); (d)-v)
4. (a)1v); (b)(id); (e)—();, (d)1)

Options:

645350699593 1
64535089 39E0. 2
4535089961, 2
64535069262, 4

Question Number : 66 Question Id : 64635017815 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L. (@)-@); (b)-(v); (c)-(n); (d)-(1i1)
2. (a-m); (b)-Gv); ()—1); (d)-(1)
3. (a)-(); (b)-D); (e)(u1); (d)-v)
4. (@-(v); (b)—(i); ()—(1w); (D—1)

Options:

54535069952, 1

54535063360, 2

545350639561, 3
64535063362, 4

Question Number : 67 Question Id : 64635017816 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An increase in money supply will increase the demand for goods and services by
1.  reducing government spending
2. lowering the interest rate so that investment spending increases

3.  raising interest rate so that investment spending reduces

4. 1increasing government spending on goods and services
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Question Number : 67 Question Id : 64635017816 Question Type: MCQ Option Shuffling: No Display Questim'lﬁetppe
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

51 STofd & 37 v voR awgelt o dareit 3 v A ofs it
1. WoR I H HH ae
2. TS X Bl UTl B dlies A 99 A §ig 8l
3. 6 X Pl Ig1 B diies Ao =99 # SHI
4. TS SR Tarsl W TER 3d | gl &

Options:
64z35069363. 1

EdE350695964. 2
54535063565, 3
54535063566, 4

Your Personal Exams Guide

Question Number : 68 Question 1d : 64635017817 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The long-term chronic unemployment arising from imbalance between the skills and
other characteristics of workers in the market and the needs of employers i1s known as

i

cychical unemployment
2. frictional unemployment
3.  structural unemployment

4. seasonal unemployment

Options:

64535069367 1
64535069968, 2
64535069963 2
645350689970 4

Question Number : 68 Question 1d : 64635017817 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535069367 1
64535069968, 2
64535069963 2
645350689970 4

Question Number : 69 Question 1d : 64635017818 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
As income falls, consumption declines but proportionately less than the decrease in
income because the consumer desires to sustain previous standard of hiving. This 1s

called
1. ratchet effect

2. wealth effect
3.  demonstration effect

4. mcome effect

Options:

64535069971, 1
64635069972 2
645350689973 2
4535089974 4

Question Number : 69 Question Id : 64635017818 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

646350695971, 1
54535063872, 2
64535069373, 2
54535069374 4

Question Number : 70 Question Id : 64635017819 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In efficiency wage model, the real wage is set to

1.  mimmise the efficiency of worker per rupee of real wages received

2. clear the labour market

A, not to clear the labour market

4. maximise the efficiency of worker per rupee of real wages received

Options:

64535069975 1
64635069976 2
64635069977 2
64535069975 4

Question Number : 70 Question Id : 64635017819 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350689975 1
4535089976 2
64635069977 2
64535069978 4

Question Number : 71 Question Id : 64635017820 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

By “financial crowding out’ economists mean
1.  credit rationing
2. what the government borrows cannot be used for private investment
3. government borrowings drive up interest rate

4.  Reserve Bank of India controls on commercial bank lendings

Options:

64535069973 1
64535089920 2
54535089981, 2
64535069082 4

Question Number : 71 Question Id : 64635017820 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535069973 1
64535069980 2
64535069981 2
4535089952 4

Question Number : 72 Question Id : 64635017821 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

An increase in fiscal spending leads to
1. ashift of Phullips curve to the left
2. ashift of Phillips curve to the right

3.  movement along the Phillips curve such that unemployment rises
inflation also rises

Options:

64535069983 1
646350699584 2
64635069985 2
64535069956 4

Question Number : 72 Question Id : 64635017821 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535069983 1
64535069934 2
6453506893985 2
64535069956, 4

Question Number : 73 Question Id : 64635017822 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Assume that an economy begins in macroeconomic equilibrium, then taxes are
significantly decreased. As a result of this change

1.  there is expansion and deflation in the economy
2. there 1s recession and deflation in the economy
3.  there is expansion and inflation in the economy

4.  there 1s stagflation in the economy

Options:

64535069987, 1
64535069988, 2
64635069983 2
64535069330 4

Question Number : 73 Question 1d : 64635017822 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
64535069357, 1

B4E35069588. 2
B4E350695983. 3
6453506395930, 4

Question Number : 74 Question Id : 64635017823 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The rational expectations hypothesis suggests that the forecasts that people make
concerning future inflation rates

1.  consistently overestimates the actual rate of inflation in the future
2. are always correct
3.  consistently underestimates the actual rate of inflation in the future

4.  are correct on an average but are subject to errors that are distnbuted
randomly

Options:

64535069991, 1
645350699392 2
64635069933 2
64535069994 4

Question Number : 74 Question 1d : 64635017823 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535069991, 1
64635069932 2
64635069933 2
6453506899394 4

Question Number : 75 Question 1d : 64635017824 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

A foreign exchange risk involves the transaction exposure, the accounting exposure and
1.  the translation exposure
2. the flexibility exposure
3. therigidity exposure

4. the economic exposure

Options:

64535069995 1
64535069936, 2
645350689937 2
64535069995 4

Question Number : 75 Question Id : 64635017824 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



www.prepp.in

fae=ft g i & 99-27 IR, a1 SEreE SiR—afaifed €
1. A Fagl e
2. 9h3gNT

4 AN Sng [N

4. anfie e

Options:

64535069995, 1
64535069996 2
64635069937 2
64535069938 4

Question Number : 76 Question 1d : 64635017825 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Three pillars of the Asia-Pacific Economic Cooperation (APEC) are
(a) trade and investment liberalization
(b) business facilitation
(c) economic and technical cooperation
(d) military cooperation
Choose the correct option :
1. (@), (b), (d)
2. (a), (b), (@
3. (a), (¢), (4
4. (b), (o), (D)

Options:
CAC S e oSOy
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1. (a), (b), (d)
2. (a), (), (©
3. (a), (¢), (@
4. (b), (c), (D)

Options:
64z35069959. 1

E4635070000. 2
54535070001, 3
54535070002, 4

Question Number : 77 Question 1d : 64635017826 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The excess supply of a commodity above the no-trade equilibrium price gives ons
nation’s

1. import demand for the commodity
2. export supply and import demand for the commodity
3.  export supply of the commodity

4. import supply of the commodity

Options:
64535070003 1
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Options:

64535070003 1
64535070004, 2
64535070005 2
64535070006, 4

Question Number : 78 Question Id : 64635017827 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which one of the following items i1s included in the Capital Account of the balance of
payments of a country?

1. [nvestment income
Z. Invisibles
3.  Commercial borrowings

4, Private transfer

Options:

64535070007, 1
64535070008 2
64635070003 2
64535070010, 4

Question Number : 78 Question 1d : 64635017827 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070007, 1
64535070008, 2
64535070009 2
4535070010, 4

Question Number : 79 Question Id : 64635017828 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In the Balance of Payments Account, the transfer payments are included in which one
of the following?

1.  Capital Account
2. Service Account
3. Current Account

4.  Official Reserves Account

Options:

64535070011, 1
64535070012 2
64635070013 2
64535070014 4

Question Number : 79 Question 1d : 64635017828 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070011, 1
64535070012 2
64635070013 2
64635070014 4

Question Number : 80 Question Id : 64635017829 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Calculate the rate of effective protection by using the formula g = RO i g=03,

a =08 and ¢, =0, then the value of fis

1. 02
2. 03
3. 0
4 04

Options:
64535070015 1
4535070016, 2

B4E35070017. 3
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L. B2
2. 03
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4. 04

Options:

64535070015 1
64635070016, 2
64635070017 2
4535070018 4

Question Number : 81 Question Id : 64635017830 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
The provision under the membership clause of the IMF is that any country can become
a member, 1f

1.  the country 1s willing to be a member of the World Bank and willing to pay
all subscriptions 1n gold

2. the country is willing to be a member of the WTO and willing to pay all
subscriptions in gold

3.  the country 1s willing to be a member of the World Bank and willing to pay
subscription

4. the counftry is willing to be a member of UNO and willing to pay
subscription

Options:
645350700149 1
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Options:

64535070013 1
64535070020, 2
64635070021, 2
64535070022 4

Question Number : 82 Question 1d : 64635017831 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Marshall-Lerner condition for the foreign exchange market to be stable,
the sum of the elasticities of demand for imports and the demand for exports should be

1. lessthan 1
2. equal to zero
3. equaltol

4.  more than 1

Options:

64535070023 1
64635070024 2
64535070025 2
4535070026, 4

Question Number : 82 Question Id : 64635017831 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070023 1
64535070024 2
4535070025 2
64535070026, 4

Question Number : 83 Question Id : 64635017832 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The commeodity or Net Barter Terms of trade are represented by the formula

L quan’r:flty of fa:xpoﬂs <100
quantity of imports

5 prlme X quant:.lw of faxports 100
price x quantity of imports

3 volume ﬂf-expmts <100
volume of imports

4 pr}ce }ndex of exporl;s (100
price index of imports

Options:

B4E3507002Z27. 1
B4E35070028. 2
54535070023, 3
54535070030, 4
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Options:

64E35070027. 1
64635070028, 2
64635070023 2
64635070030, 4

Question Number : 84 Question Id : 64635017833 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Immuiserizing growth’ 1s the term given by
1.  Amartya Sen
2. N. Kaldor
3. Paul Krugman

4. Jagdish Bhagwati
Options:
64c35070021. 1
4535070032, 2
e4z35070032 2
640350700324 4

Question Number : 84 Question Id : 64635017833 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
645350700311

BdE35070032. 2
B4E35070033. 3
64535070034, 4

Question Number : 85 Question Id : 64635017834 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following factors 1s NOT the cause for “market failure’?

[

Asymmetric information
2. Public goods
3.  Externality

4.  Lack of demand

Options:

4535070035 1
64635070026, 2
64635070027 2
64635070038, 4

Question Number : 85 Question Id : 64635017834 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64535070035, 1
B4E35070036. 2
BdE35070037. 3
B4635070025. 4

Question Number : 86 Question Id : 64635017835 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1s an example of a public good?
1.  Residential building
2. National defence
3.  Restaurant meals

4. Swimming pool of a house

Options:

64535070033 1
64535070040, 2
64535070041, 2
64535070042 4

Question Number : 86 Question Id : 64635017835 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64525070029 1
4535070040, 2
64535070041, 2
64535070042 4

Question Number : 87 Question Id : 64635017836 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A tax 1s said to be direct, when
1.  impact and incidence fall upon the same person
2.  onlyincidence falls upon the same person
3. 1mpact is shifted to another person

4.  personescapes from paying tax

Options:

64535070043 1
64535070044 2
64635070045 2
64535070046, 4

Question Number : 87 Question Id : 64635017836 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070043 1
64525070044 2
4535070045 2
64635070046, 4

Question Number : 88 Question Id : 64635017837 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A toll tax 1s a tax based on which of the following?
1.  The benefit principle
2. Horizontal equity
3. Vertical equuty

4.  Tax progressively

Options:

64E35070047. 1
64535070048, 2
64535070043 =2
64635070050, 4

Question Number : 88 Question Id : 64635017837 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B4635070047. 1
64635070045, 2
64535070043, 3
64535070050, 4

Question Number : 89 Question 1d : 64635017838 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Vertical equity in taxation means that
1. people in different income groups should be taxed equally
2. peoplein different income groups should be taxed differently
3. peoplein different groups should be charged proportionately
4. unequal people should be treated equally

Options:

64635070051, 1

64635070052, 2

64535070053, 2
54535070054, 4

Question Number : 89 Question Id : 64635017838 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070051, 1 v
64525070052 2

4535070052 2

64535070054, 4
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Question Number : 90 Question Id : 64635017839 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is NOT part of Wiseman and Peacock hypothesis?

L Concentration effect

b2

Displacement effect
3.  Inspection effect

4. Taxation effect

Options:

64525070055 1
4535070056, 2
64635070057, 2
64535070058, 4

Question Number : 90 Question Id : 64635017839 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

e AR oie tRe o Fufefed § 9 oF- 9 Aagr 22
.  HoguHHE
2. Ta®mH pHE
3. e pHE

4. SHUYH UHE

Options:

64535070055 1
64535070056, 2
ERARZENFONET =
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Which one of the following 1s NOT the method of debt redemption? 'reep
1. Refunding
2. Repudiation

3.  Sinking fund

4.  Capital levy

Options:

64525070059 1
4535070080, 2
64635070061, 2
64535070062, 4

Question Number : 91 Question Id : 64635017840 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Froifed d @ Si9-30 B e ot R T8 82
1. gAEREs
2. U
3. g
4. ot ot
Options:

64535070053, 1
64535070080, 2
54535070061, 2
B4E350700EZ. 4

Question Number : 92 Question Id : 64635017841 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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The concept of fiscal deficit implies which of the following? Prepp

Your Personal Exams Guide

1.  Revenue and interest receipts minus revenue expendifure

2. Revenue receipts and recovery of loans and other receipts minus total
expenditure

3. Receipts minus disbursement in Capital Account

4. Total receipts minus tofal expenditure

Options:

64535070083 1
64635070064, 2
64535070065 2
4535070066, 4

Question Number : 92 Question Id : 64635017841 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

SN U1C &1 SR &1 Fufeiad # 3 oi=-a1 Figard 82

1. IR SR TS Ve A | ToRa 39 B Tl

2. oG VI SR K0T B auelt 3R 37 agferdl § ¥ $d 39d i gl
il # 9§ Yol deT | Sidawr S gen
4. PAVCE AT Fd Y B gy

i

Options:

64535070063 1
64535070064 2
4535070065 2
64635070066, 4

Question Number : 93 Question Id : 64635017842 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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prep

Durnng recession which of the following measures 1s imtiated? vourprsens s e
1.  Cutting taxes and boosting government spending
2.  Increasing taxes and decreasing government spending
3.  Keeping tax rates constant and increasing government spending
4.  Increasing tax rates and keeping government spending constant

Options:

64535070087, 1
64635070068, 2
645250700683 2
4535070070, 4

Question Number : 93 Question Id : 64635017842 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HEl & GRIF ufied # 3 S-91 Jurd SR e s g
1. UHFIN AR W A H FiG S
2. & H g R Ter) & 8 SH
3. BT P RR T SR W™ a | afg &
4. W H MG IR Wi o@ &1 RR &1

Options:

64635070067, 1
64535070068, 2
645350700683 2
64535070070, 4

Question Number : 94 Question Id : 64635017843 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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During a depression which of the following policy instruments should be used

r Personal Exams Guide

1.  Taxes should be increased
2. Taxes are kept unchanged and public expenditure 1s increased

3.  Public expenditure is reduced

4.  There should be a balanced budget

Options:

64535070071, 1
64635070072 2
64535070072 2
4535070074 4

Question Number : 94 Question Id : 64635017843 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

HEl & R FHiied § | SF-91 Hiford 3um e o =iee?

R g1 G I ey

2. SN AN Sqad Ael [San S 3R rdei~e S5 Igran Sl §
3. Qdwie o aeE o 8

4. U dgfod Sec g Ty

p—

Options:

64535070071, 1
4535070072 2
64635070072 2
64535070074 4

Question Number : 95 Question Id : 64635017844 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Under which system the central bank is authonised by law to issue a fixed amount-of

notes against government securities and any excess 1s to be fully backed by gold/silver?
1. Maximum fiduciary system
2. Mimmum reserve system
3.  Fixed fiduciary system

4. Maximum and mimmum fiduciary system

Options:

64535070075 1
64635070076, 2
64635070077 2
64535070072 4

Question Number : 95 Question 1d : 64635017844 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

forg wuTelt & i Bl 3% @1 Rfte U A g7 ifteR wd 2 [ 98 Wer vfayfad
& 95d U Sd Ann A gEl o SR Iodl ¢ o 5 o eftiwar & sead wi/aiet T
TSt 87

1. 3ifiean verd pomet

2. FGH SMRiard WOt

3. aa vt gomed

4. 3fsan SR THdH v vt

Options:

64535070075 1
64635070076, 2
64635070077 2
64535070072 4

Question Number : 96 Question 1d : 64635017845 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Liquidity approach is also known by the name "
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p—t

Gurley-Shaw approach
2. Radclhiffe approach
3.  Traditional approach

4. Monetarist approach

Options:

64535070073 1
64535070030, 2
64535070021, 2
4535070022, 4

Question Number : 96 Question Id : 64635017845 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TRAdl SUTTH 1 59 3/ 419 & it ST ST 87
. |- IurE
2. (Sfees SurH
3. UR®R® IUrH

4.  Hgrargl IURTH

Options:

64535070073 1
64525070020, 2
4535070021, 2
64535070082, 4

Question Number : 97 Question Id : 64635017846 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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External drains leave which type of impact on commercial bank? 'repp
1.  Lowers the reserves of bank
2.  Increases further deposits
3.  Increases credit creation

4. Creates demand deposits

Options:

64535070083 1
645350700354 2
64635070085 2
64535070026, 4

Question Number : 97 Question 1d : 64635017846 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

qTEl YaTe giivifouss 5o 1R 9 UeR &1 yHE gied 22
1. % o aRfea Ry ged 8
2. oHRiH R g B &

3. 9NE 9o A gfg B @
4. T SH S g H &

Options:

64535070083, 1
64635070084 2
64535070085 2
4535070026, 4

Question Number : 98 Question Id : 64635017847 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which consideration a commercial bank does NOT keep in mind to manage its-assets
and liabilities?

1. Liqudity
2.  Profitability
3.  Solvency

4. Equity

Options:

64535070087, 1
64635070088, 2
64535070033 2
64535070030, 4

Question Number : 98 Question Id : 64635017847 Question Type: MCQ Option Shuffling : No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

U qiieuss 3 oot oy ok Saarel & vey= | gt =g a8l T 22

1. oRad
2. @THYEdl
3. e
4. GHAT

Options:

64535070037, 1
64535070088, 2
64635070083 2
64535070030, 4

Question Number : 99 Question 1d : 64635017848 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Which 1s NOT the main objective of credit control? "

repp
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(—

Stabilization of general price level
2. Promoting economic growth
3.  Ensuring adequate flow of credit to productive sectors

4.  Promoting economic welfare

Options:

64535070091, 1
64635070032 2
64635070033 2
645250700394 4

Question Number : 99 Question 1d : 64635017848 Question Type: MCQ Option Shuffling: No Display Question Number : Ye
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Prafered § @ &19-91 9 a0 &1 g 383y 981 87
1. 9 HE R &1 R
2. e GafE & vieemeT o
3. IdEH & & 9 & TA FaTE &1 GRid S
4. 3idfes Heumor B UIETeT ol

Options:

645350700391, 1
64635070032, 2
645350700392 2
64535070094, 4

Question Number : 100 Question Id : 64635017849 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Direct credit programmes introduced "

repp

Personal Exams Guid

]

security-oriented credit
2. development-oriented credit
3.  purpose-oriented credit

4.  welfare-onented credit

Options:

64535070095, 1
64535070096, 2
64635070037 2
64535070033, 4

Question Number : 100 Question 1d : 64635017849 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

R ara srfwmat 3 gt v fasar ur?
1. Gan-SHE 9™
2. fAoN-cwHE 9
3. aRH-3He! 9

4. SIS G

Options:

64525070035 1
4535070096, 2
64635070097, 2
64535070098, 4

Question Number : 101 Question Id : 64635017850 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match List—I with List-II prepp
List—I List-II
(Institutions) (Established)
@ ICICI @ 1971
(b) IRBI Qi) 1964
©) IFCI i) 1955
(d) IDBI (v) 1948

Chose the correct option from those given below :
1. (@-); (b)—-); (c)(11); (d)-(v)
2. (a(u); (b)-(u); (e)-(v); (A1)
3. (a)-(u); (b)—1); (c)iv); (d)~(1i)
4. (a)-(u); (b)-(); ()-(); (d—(v)

Options:

64535070093 1
64535070100, 2
4535070101, 2
64635070102, 4

Question Number : 101 Question Id : 64635017850 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



www.prepp.in

1 B 3 g HR prepe
a1 -1

(TRI) (RITCHT )
(1) oms. .3z 4l og. i 1971
(b) oMmg oM &1 38 (i) 1964
(c) 33 TF. 9. 313 (iii) 1955
(d) o3 St eng (iv) 1948

w8 fre 2T
L (@0); (B)i); ()(i); (d)-(iv)
2. (@)i); (b)i): ()-(v); (@)
3. (@)i); (0)—00); (0)~iv); (@)
4. (a)diD); (B-G); (-0 (@-Gv)
22203”;;?0[199.

54535070101,
B4E35070102.

e L )

Question Number : 102 Question Id : 64635017851 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following 1s NOT the function of a capital market?
1. Moblising savings into investment
2. Channelising funds from less profitable to more profitable
3.  Mobilising funds from surplus units to deficit units

4. Providing better returns to direct investors

Options:
64535070102 1

B4E35070104. 2
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fmifesd # ¥ S19-91 U Uoil I9R &1 B T8l 87 prepe
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3. il @t et gers 1 B1f 518 A adr 8
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o

Options:

64535070103 1
64635070104 2
64535070105 2
4535070106, 4

Question Number : 103 Question Id : 64635017852 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

The liquidity aggregates are classified as
1. Ly, LzandLs;
2. M, M;and M;
3. NM;

4, M1, Mz, Mg El,ﬂd M4
Options:
54535070107, 1
54535070108, 2
54535070103 3
54535070110, 4

Question Number : 103 Question 1d : 64635017852 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

e 99 &1 g U A aiffed fear w82

1. L, L3R Ls

A AL WA RN
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64635070107, 1 P
64635070108, 2 o
64635070109, 3
64635070110, 4

repp
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Question Number : 104 Question Id : 64635017853 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to Marxian analysis the surplus value depends upon

[

surplus and necessary labour time
2. necessary labour time only
3. surplus labour time only

4. normunal wage rate

Options:

645350701111
64635070112 2
64635070113 2
64635070114 4

Question Number : 104 Question 1d : 64635017853 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

HIFHATE] [ARAW0r & AR SRS A fog R R & 87
1. SR 3R Sravas v 9Hd

2. Ut emawgs sH IHa
3. b ey s 99

4, THATE oG &

Options:

64635070111, 1
64635070112 2
64535070112 2
64635070114 4
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Match List-I with List-1I prepp
List—I List-II
(a) Theory of big push (1) J. H. Boeke
(b) Warranted rate of growth (i1)  Paul Romer
(¢) Social dualism (11)  Rosenstein-Rodan

(d) Endogenous growth theory (iv)  R.F. Harrod

Choose the correct option from those given below :
1. (a)yr); (b)), (e)—1v); (d—(1)
2. (ay(u); (b)) (©—1v); (d)-1)
3. (a)-(m); (©)-(v); (e)~1); (D)
4. (a)y-Qv); (b)), (¢)-(m1); (d)—1)

Options:

64535070115 1
4535070116 2
64635070117 2
64635070118 4

Question Number : 105 Question Id : 64635017854 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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T 1 B Il § g FR: prepp
Ii-1 -1

(a) T Q¥ &1 RIgT i) I
(b) ey Fgig = (i) oid IR

(¢) M gaarg (iii) I e
(d) fcofid "gfe & (iv) R TE RS
Tet fawea gfu

1. (a)-(1); (b)-(id); (e)-(iv); (D)
2. (ait); (b)-); (¢)~(iv); (d)-(i1)
3. (a)-it); (b)-v); (e)(1); (d)-()
4. (a-(v); (b)-(1); (0)-in); (1)
54635070115, 1
64635070116, 2

B4635070117. 3
64535070115, 4

Question Number : 106 Question Id : 64635017855 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
In J. Robinson’s growth model, capital accumulation depends on
1. saving-income ratio

2. profit-wage relation and labour productivity

o

profit-income ratio and capital productivity

-

saving-investment ratio

o TP N,
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Correct Marks: 2 WrongMarks: 0 '

repp
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1. §9d-3M U
2. HATHI-AOIGRl §eY SR ¥H STGHd
3. HATHI-3 S0 3T Uolt Iataamdl

Options:

646350701193 1
64535070120 2
4535070121, 2
64635070122 4

Question Number : 107 Question Id : 64635017856 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following growth models takes technology as exogenous variable?
1.  Solow model
2. Robinson model
3.  Lucas model

4. Todaro model

Options:

4535070123 1
64535070124 2
64635070125 2
64635070126 4

Question Number : 107 Question Id : 64635017856 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. darded
2. fdEs Hied
3. oM Asd
4, creldisd
Options:

B4635070123. 1
64535070124, 2
64535070125 3
64535070126, 4

Question Number : 108 Question Id : 64635017857 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following does NOT determmne the amount of years of schoolin;
demanded by an individual to qualify for modern job?

1.  The wage or income differential
2. The probability of success in finding modern sector employment
3. Opportunity cost of schooling

4.  Expansion of healthcare infrastructure in urban sector

Options:

64635070127 1
64535070128 2
4535070129 2
64535070120, 4

Question Number : 108 Question Id : 64635017857 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64635070127 1
4535070128 2
4535070129 2
64535070120 4

—

Question Number : 109 Question Id : 64635017858 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following 1s not associated with the endogenous growth theory?
1.  Robert Solow
2. Paul Romer
3. Rebelo

4.  Robert Lucas

Options:

64535070131, 1
64635070132 2
64535070122 2
4535070124 4

Question Number : 109 Question Id : 64635017858 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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. << gl
2. Oig IR
3. feaal

4. I I

Options:
645350701211

B4E35070132. 2
B4635070133. 3
64635070134, 4

Question Number : 110 Question Id : 64635017859 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one 1s NOT axiom of inequality measures?
1.  Principle of scale invariance
2. Principle of equty
3.  Principle of translation invariance
4.  Axiom of decomposibility
Options:
64635070135, 1
64635070136, 2

E4535070137. 3
B4E35070125. 4

Question Number : 110 Question Id : 64635017859 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. A & v sofkad-taar o1 Rigid
2. OHEAE g
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4. faOeFaa &1 Wifig

Options:

645325070135 1
45350701326 2
64635070127 2
64635070128 4

Sub-Section Number: 6
Sub-Section Id: 646350868
Question Shuffling Allowed : Yes

Question Id : 64635017860 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior

Questions: No
Question Numbers: (111to 113)
Cnaesticn Label - Comprehension

Direction : Consider the following table that gives the monthly per capita consumpti
expenditure (MPCE) of eight households and answer the questions given below

TABLE
State MPCE (in Rs) of 8 Households
1 2 3 4 5 6 7 8
State—A | 950 1100 1000 975 750 775 790 1400 I
State—B | 1250 1150 1400 1100 550 600 490 1200

The value of Z (poverty line MPCE cut off) 1s Rs 800.

Sub questions
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Estimate of head count ratio in State—A and State—Bare @ 0., e
% State—A : 0-375; State—B : 0-375
2. State—A : 0-475; State—B : 0-375
3. state—A 1 0-57); dtate—B : 0-573

4.  State—A : 0-385; State—B : 0-425

Options:
64535070139 1

Bd4E35070140. 2
B4E35070141. 2
54535070142, 4

Question Number : 112 Question Id : 64635017862 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

From the table calculate the estimates of Poverty Gap Ratio (PGR) for State—A and
State—B and select the correct option :

1. State—A : 0-133; State—B : 0-0119
7. State—A : 0-153; State—B : 0-0135
3, State—A : 0-0133; State—B : 0-119

4.  State—A : 0-0153; State—B : 0-135

Options:

64535070143 1
64535070144 2
64635070145 2
64635070146, 4

Question Number : 113 Question Id : 64635017863 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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From the table calculate the estimates of Square Poverty Gap Ratio (SPGRiaruEﬁg;
show that the SPGR in State—A 1s

1. same as in State—B
2. higher than that in State—B
3. lower than that in State—B

4. signmficantly different from zero

Options:

64535070147 1
4535070148 2
64635070143 2
64535070150 4

Question Id : 64635017860 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehensior
Questions: No

Question Numbers: (111to 113)
Cnaesticn Label © Comprehiension

fAd=r : Frifea arolt ;= faer & o omg ==t @1 A1ie via sofeq Suvi sgg (e, 0t . 3)

fean o g SR feu M yy & IWE
aroft
T ragea fes B R c e )
1 2 3 4 5 6 7 8

Td—A 950 1100 1000 L 750 775 790 1400

q9—B 1250 1150 1400 1100 550 600 490 1200

7, 1 A (TR 38T UH. Ot 9. 3. Heaii) BT 800 &

Sub questions

Question Number : 111 Question Id : 64635017861 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070129 1
64535070140 2
64635070141 2
64535070142 4

Question Number : 112 Question 1d : 64635017862 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
TT—A 3R I0—B H Ffed AT 3T BT A &
1. TG—A: 0-375,T58—B: 0-375
2. TH—A: 0-475, TH—B : 0-375
3. TF—A:0-575, TH—B: 0-575
4, TH—A: 0-385, TH—B : 0-425

Options:

64635070143 1
64535070144 2
4535070145 2
64535070146, 4

Question Number : 113 Question Id : 64635017863 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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IRUT ¥ T9—A 3R T9—B & RISl Sia0d 3uTd (41, Sil. 3% & 8N aﬂﬁ'ﬁ%
3R TEt fAwen 94 ;

1.  T8—A:0-133,39—DB : 0-0119

2. USG—A:0-153, s9—B : 0-0135
3. US9—A:0-0133;T9—B:0-119

4.  TSO—A 0-0153,I<9—B: 0-135
Options:
54635070147 1
54535070143, 2
54535070143 3
64535070150, 4

Sub-Section Number: 7
Sub-Section I d: 646350869
Question Shuffling Allowed : Yes

Question Number : 114 Question Id : 64635017864 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Market failure oceurs in case of most of the environmental goods, because

1. environmental goods are rival products
2. environmental goods are excludable products
3.  environmental goods are non-rival in production

4. environmental goods are non-rival and non-excludable 1n consumption

Options:

64535070151, 1
64635070152 2
64635070153 2
64635070154 4

Question Number : 114 Question Id : 64635017864 Question Type: MCO Option Shuffling : No Display Question Number : Y
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Options:

64535070151, 1
64535070152 2
64635070152 2
64535070154 4

Question Number : 115 Question Id : 64635017865 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

The IRR 1is the discount rate that equates the project NPV to and benefit-cost
ratio to

. 1.4

2 Bl

3. 0,0

4. 1.1
Options:

64535070155, 1
64535070156, 2
64535070157, 2
54535070155, 4

Question Number : 115 Question Id : 64635017865 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645325070155 1
4535070156 2
64635070157 2
64535070158 4

Question Number : 116 Question Id : 64635017866 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The “hedonic price” method measures the value of environmental assets through

1. using “existence’ of an environmental asset
2. using linkages between variations of inhouse prices
3. using WTP to value of environmental asset
4. using WTA to value of environmental asset

Options:

64635070159,

64635070160,

1
z
54535070161, 2
B4E350701E62. 4

Question Number : 116 Question Id : 64635017866 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645350701593 1
64535070160 2
4535070161, 2
64635070162 4

Question Number : 117 Question Id : 64635017867 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match List—I with List—II :

List-I List-II
(a) World Environment Day (1) 11th July
(b) World Wildlife Day (11)  5th June
(c) World Water Day (i11)  3rd March
(d) World Population Day (iv)  22nd March

Choose the correct option from those given below :
1. (a1 (b)-(id); (e)(iid); (d)—(v)
2. (@) (0-):; (©-v); (1)
3. (@-v); (b)ui); (), (D)1
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Question Number : 117 Question Id : 64635017867 Question Type: MCQ Option Shuffling : No Display Questior Nutiyef <Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

eI &1 -1 | gaferd sifow :
-1 -1

(a) Ty vafawor feag i 11 g

(b) Ay Teia fdaw (i) 57

(c) fayva feaw (i) 3 W&

(d) Ry S=gen fiay (iv) 22 AR
Fafafed # 9 95 [dew giFe

L (- (b)-w); (o) ~(u1); (d)-(1v)
2. (a)-(u); (B)-@); () (d)-(11)
3. (a-Qv); (b)-(m); (¢)-G1); (A1)
4. (a)-(ii); (b)—(ii); ()-(iv); (d)—1)

Options:

4535070163 1
64635070164 2
64635070165 2
4535070166, 4

Question Number : 118 Question Id : 64635017868 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“Under some conditions, it makes no difference to efficiency whether the polluter has
a right to pollute or the victim has a right to clean air.” This statement is related to the
work of :

1. G.Hardin
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B4E35070167. 1
54535070168, 2
64535070163, 3
64535070170, 4

prepp
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Question Number : 118 Question Id : 64635017868 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

o3 # HIad W 59 91 9 Dis YHE E USdl & Wgue & U™ HL-
L ﬁ%amwgmmaﬂw%l”ugﬁmﬁaﬁﬁﬁ%ﬁgmm%

&1 SR T 3
T 87
1. . gfés
2. 3R B
3. U @R

4. itms 9sae

Options:

64535070167, 1
64635070168 2
64535070169 2
4535070170 4

Question Number : 119 Question Id : 64635017869 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following items completes the life table?

Age L i T s 8.
7 90,000 500 89,750 48.50,000 ?
1. 50-50
2.  54-00
3. 5389
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Question Number : 119 Question Id : 64635017869 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fAmiferd & | ®19-91 A offas JRoft @Y gl &l g2

3Mg I, d, L, T, e’
T 90,000 500 89,750 48,50,000 ?
1. 50-50
2. 54-00
I
. Hl31

Options:

64535070171 1
64635070172 2
64535070173 2
4535070174 4

Question Number : 120 Question Id : 64635017870 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Match List-I with List-II :  eurescisemos
List-I List-II
(a) Thomos Doubleday (1) Destiny theory
(b) Thomas Sadler (ii)  Biological theory
(¢) Leibenstein (1)  Diet theory
(dy Herbert Spencer (iv) Motivation theory of

population growth

Choose the correct option from those given below :
1. (a)-Q); (b)—(u); (¢)-(um1); (d)-(v)
2. (@), (b)), (e)-v); (d)i1)
3. (@-0v); (b)), (e)-(i1); (A1)
4. (a)-(v); (b)), (e)-(1); (d)—~(uy)

Options:

64635070175 1
64635070176 2
64635070177 2
64635070178 4

Question Number : 120 Question 1d : 64635017870 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) UMY ST i) R RrEE
(b) ufEE Hgw (i) e Rghd
(©) I (iii)  3mer Rrgia
(d) TEE TR (iv) e gia o1 v Rigia

Tl WA ;

(a)-(1); (b)—(ii); ()-(iii); (d)-(iv)
2. (a)y(ii);, ()-(); (e)—v); (d)-(i)
3. (a)v); (b)-(u1); (c)-(1); (1)
4. (@-v); ()-1); (e)-Q); (d)-(11)

i

Options:

64635070175 1
64635070176 2
64635070177 2
64635070178 4

Question Number : 121 Question 1d : 64635017871 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Who propounded optimum theory of population?
1. Robbins

2. Dalton

3. (Cannan
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Question Number : 121 Question Id : 64635017871 Question Type: MCQ Option Shuffling : No Display QuestiorNutiyef <Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fepert e & spav Risid &1 wiaure= foar ur?
1.
2. BTeeA
3. &
4, PRIAEY
Options:

B4E35070173. 1
64635070180, 2
64535070181, 3
64535070182, 4

Question Number : 122 Question Id : 64635017872 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

What 1s the equation of corrected birthrate?

Registered births in one year + Possible birth
Mid year population

l;; Corrected birthrate = = 1000

Live births in one year

2. Corrected birthrate = : = 1000
Mid year population
3.  Corrected birthrate = Nmber eifeiil l?l =x1000
Mid year population

Registered births + Possible births
Mid year female population

4.  Corrected birthrate = = 1000

Options:

64535070183 1
64535070134 2
RARSEOFO] RS =
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2. IfE IR = ngmmﬁm % 1000

; HaTaft B o TE
3. NI TR = e ¥ 1000

; _ Uulipd 9H + TYTfdd o
4. IR = e e * 1000

Options:
4535070152 1

B46350701854. 2
64635070185, 3
64535070186, 4

Question Number : 123 Question 1d : 64635017873 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which age structure is important for demographic dividend?
1. 0-14
2. 1559
3. 60 and above

4. 0-14 and 60 and above

Options:

64535070187, 1
64535070188 2
64635070183 2
64535070130 4

Question Number : 123 Question 1d : 64635017873 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical
Carroct Marlbke: 2 \NMrona Marlre: 0O



www.prepp.in

prepp

SIS A & foT8 S-S TE-T Hewyul 872 ol
1 0-14
2 15-59

3. 60 SIRITAFW
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Options:

64535070187, 1
64635070188 2
64535070133 2
4535070130 4

Question Number : 124 Question Id : 64635017874 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In 2011 the proportion of urban population was more than 40 percent in the States of
1.  Tamil Nadu, Punjab, Andhra Pradesh, Gujarat
2. Tamil Nadu, Haryana, Gujarat, Maharashtra
3.  Tamul Nadu, Kerala, Andhra Pradesh, West Bengal

4. Taml Nadu, Kerala, Maharashtra, Gujarat

Options:

64635070191, 1
64535070132 2
64535070132 2
64635070194 4

Question Number : 124 Question Id : 64635017874 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
6453507014511

B4E35070132. 2
B46350701393. 3
645350701394, 4

Question Number : 125 Question Id : 64635017875 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Second National Commission on Labour has recommended a three-tier system
including

1. Lok Adalats, Labour Courts and Labour Commission
2. Lok Adalats, Labour Courts and Labour Relations Commmussion

3. Lok Adalats, Labour Courts and Judicial Courts

4. Lok Adalats, Labour Courts and Labour Inspectors

Options:

64535070195 1
64635070136 2
4535070137 2
64635070193 4

Question Number : 125 Question Id : 64635017875 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070195 1
64635070196 2
64635070137 2
4535070138 4

Question Number : 126 Question Id : 64635017876 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Under TRIPS protection for copyrights is for
1. 20 vyears after death of the author
2. 30 vears after death of the author
3. 40 vears after death of the author

4. 50 years after death of the author

Options:

64535070199 1
64535070200 2
64635070201, 2
64635070202 4

Question Number : 126 Question 1d : 64635017876 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

645325070199 1
4535070200, 2
64635070201, 2
64535070202 4

Question Number : 127 Question Id : 64635017877 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

National Food Security Law covers
1. 65% of rural population
2. 70% of rural population
3.  75% of rural population

4.  80% of rural population

Options:

645250702032 1
4535070204 2
64635070205 2
64535070206, 4

Question Number : 127 Question Id : 64635017877 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070203 1
64535070204 2
64635070205 2
64535070206, 4

Question Number : 128 Question Id : 64635017878 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT part of the ‘PM Kisan Samman Nidhi’ scheme as
announced on 1-02-20197

1.  All farmers having land holdings up to 2 hectares are eligible under the
scheme

2. The scheme will be applicable from 1st April, 2019

3.  The government will transfer Rs 6,000 per annum into the bank accounts of
eligible beneficiaries

4. The money will be given in three equal instalments of Rs 2000 each

Options:

64535070207, 1
64535070208 2
4535070209 2
64635070210, 4

Question Number : 128 Question Id : 64635017878 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WronaMarks: O
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Options:

4525070207, 1
4535070208 2
64635070203 2
64535070210, 4

Question Number : 129 Question Id : 64635017879 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following is NOT cormrect with reference to the service sector of Indian
economy?

1.  Service sector has the largest share in the GDP
2. Service sector has the largest share in employment
3. Service sector’s growth has been higher than growth of agriculture sector

4. Productivity per worker in service sector is highest

Options:

645325070211, 1
4535070212 2
646350702132 2
64535070214 4

Question Number : 129 Question Id : 64635017879 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350702111

B4E35070212. 2
B4635070213. 3
64635070214, 4

Question Number : 130 Question Id : 64635017880 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The RBI made Indian rupee fully convertible in current account transactions related t
goods and services in the year

1. 1985
2. 2002
3. 1994
4. 2011

Options:

64535070215 1
64635070216 2
64535070217 2
4535070218 4

Question Number : 130 Question Id : 64635017880 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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L. 1985
2. 2002
3. 1994
4. 2011

Options:

64635070215 1
64535070216 2
4535070217 2
64635070218 4

Question Number : 131 Question Id : 64635017881 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

“Education as investment in human resources plays an important role among the factors
which contribute to economic growth.” This statement was given by

1. New Education Policy, 1985
2 Education Commussion, 1966
5. "HNEERT

4. Supreme Court of India

Options:

64535070213 1
64635070220 2
64635070221, 2
64535070222 4

Question Number : 131 Question Id : 64635017881 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1. % e ifq, 1985

2. e 3mam, 1966
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Options:

64535070219 1
64635070220 2
64535070221 2
4535070222 4

Question Number : 132 Question Id : 64635017882 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following is NOT an instrument of capital market with special reference
to India?

1. Equty share
2 Debenture
3 Gold ETF

4. Commercial paper

Options:
Ed4z35070222. 1

B4E35070224. 2
64635070225 3
B4E3507 0226, 4

Question Number : 132 Question 1d : 64635017882 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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64835070223, 1
B4E35070224. 2
BdE35070225. 3
B4E35070226. 4

Question Number : 133 Question Id : 64635017883 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Assertion (A) : The share of the non-commodity sector in the national income has been
increasing in India.

Reason (R) : Industry and Agriculture have been growing at a relatively slower pace
in India.

Choose the correct answer from the options given below :
1. Both(A)and (R) are true and (R) explains (A)
2.  Both (A) and (R) are true but (R) does not explain (A)
3. (A)istrue but (R)1s false
4. (A)is false but (R) 1s true

Options:

64535070227 1
64635070228 2
646350702293 2
EARZENTOZ2N <



www.prepp.in

ARBYT(A) : URA DI TPH A ANR-TG S TR A I D@ 2 prepp
a5 (R) - YRG H TR AR PR emeed TR ifte it fa F om 3 ® B
= fou T e # 3 T@ TR

1. (&) dR(R) T FE E TN (R), (A) P oeN HETE

2. (A)IME®) TR LG R), (A) Pt ore T8 e
3. (A)FEIEfFgR) AR

4. (A)TEAE YR TR

Options:

64535070227, 1
64535070228 2
64635070229 2
64635070230 4

Question Number : 134 Question 1d : 64635017884 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

In a binomial distribution, the probability of x successes in » trials in any order is given

by
. px)="C,p q¢""
2. px)="Cp*q"
3. Bx)="Cp'q"
4. p@)="C.p"q""
Options:

54535070231, 1
EAEIE0FOZ22 2
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1. pl)="C_p g™

-1

2. px)="Cp*q
3. px="Cplq™
4. px)="Cp"q""

Options:

64535070221, 1
64535070232 2
64635070233 2
64535070234 4

Question Number : 135 Question 1d : 64635017885 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The correct relationship among Arithmetic Mean (AM), Geometric Mean (GM) and
Harmonic Mean (HM) is

1. GM=AM+HM

2. AM<HM

3.  [GM]*=HM x AM

4. AM=GM -HM

Options:

4535070235 1
64635070226, 2
64635070227 2
64635070238 4

Question Number : 135 Question Id : 64635017885 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

o~
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1. ©l.UH.=TUH+UT9.TH
2, U UH <Td. TH.
3. [ShUA)=T3.THxT.TH
4. U UH =§ UH - T TH.
Options:
Ede3E070225 1
cde 25070236, 2

B4E35070237. 3
B4E35070235. 4

Question Number : 136 Question Id : 64635017886 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

For a moderately skewed distribution, the value of mode 1s 10 and value of median is
20. Then the mean is

L. 13
e Al
[y 2D
4. 35

Options:

64525070229 1
4535070240 2
64635070241, 2
64535070242 4

Question Number : 136 Question Id : 64635017886 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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1 15
2 30
3 25
4 35

Options:

64535070229 1
64635070240, 2
64535070241, 2
E4535070242 4

Question Number : 137 Question Id : 64635017887 Question Type: MCQ Option Shuffling : No Display Question Number : Y
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Correct Marks: 2 WrongMarks: 0
Standard Error (SE) of sample mean (X) in random sampling from an infinit:
population or in random sampling with replacement is given by

2

.  SE=-"_where o is the population standard deviation

3

2. SE = ——=where G is the population standard deviation

Jn?

3

3. SE=——where ¢ is the population standard deviation

Jn

a

Jn

4. SE= where ¢ 1is the population standard deviation

Options:
4535070242 1

BdE3507 0244, 2
B4635070245. 3
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64635070243
64635070244,
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Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

When the null hypothesis 1s there as an equality, the level of significance is the
probability of making

1. type Il error
2.  type lerror
3. typeland Il errors

4. type I and III errors

Options:
ed4z35070247. 1

B4635070248. 2
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Options:

64535070247, 1
4535070248 2
64635070243 2
64535070250, 4

Question Number : 139 Question Id : 64635017889 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In a two variable (X and ¥) regression analysis, the regression coefficients are by, = 0-6
and by, = 0-8. If y 1s dependent variable and x 1s independent variable, what 1s the
percentage of variations in ¥ explained by X7

1. 4%
2. 48%
3. 49%
4. 36%

Options:

64535070251, 1
64635070252 2
64535070252 2
4535070254 4
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Correct Marks: 2 WrongMarks: 0
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1. 47%
2. 48%
3. 4%
4. 36%

Options:

64535070251, 1
64635070252 2
64535070252 2
4535070254 4

Question Number : 140 Question Id : 64635017890 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I with List-II :

List-I List-II
(a) Gauss-Markov fiy R
(b) Coefficient of determination (11)  One sided test
(¢) Hp:B,=0,H;:B;=70 (1)  Goldfeld-Quandt test

(d) Heteroscedasticity (ivy BLUE

Choose the correct option from those given below :
L. (a-(v); (b)-Q); (e)—(11); (d)~11)
2. (a)-); (b)—1w); (e)—w); (1)
3. (a)-(u); (b)—u); (e)-1); (d)-Qv)
A s R T R
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Correct Marks: 2 WrongMarks: 0

g1 S Fa-11 gAfed Sifo :
-1 -1

uuuuuuuuuuuuuuuuuuu
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(b) fefor &1 qUie (i)  UHdHI GIeu
(¢) Hy:B,=0,H;:B,=70 (il) TcEhE-Hrs I
(d) fawnfa=rfedar (ivi BLUE
e fawea g :

L (a-Qv); (b)-); (c)-(1); (d)—1m)
2. (a)-); (b)—(1); (0)~(iv); (d)-(i1)
3. (a)y-(u); (D-m); (¢)-(1); (d)-(v)
4. (ay-(ui); (b)-(1); ()—(1); (d)-1v)

Options:
64z35070255. 1

B4E35070256. 2
64635070257, 3
54535070258, 4

Question Number : 141 Question 1d : 64635017891 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Multiplicative decomposition model is used to
1.  deseasonalise the time series data

2. buld cost of living index
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Question Number : 141 Question Id : 64635017891 Question Type: MCQ Option Shuffling : No Display Question Number : Y
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Correct Marks: 2 WrongMarks: 0
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Options:

64535070259 1
64635070260 2
64535070261 2
4535070262, 4

Question Number : 142 Question Id : 64635017892 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Match List—I with List-II :

List-I List-II
(a) Skewness (1) Dispersion
(b)y Vanance (1)  Random variation
(¢) Earthquake (111)  Ratio of variances
(dy F-test (iv)  Lack of symmetry

Choose the correct option from those given below :

. (a)-Qi); (b)-(v); (c)-(); (D)
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54535070263, 1 Your Personal Exams Guide
64535070264, Z
E4E350702E65. 3
B4E35070266. 4

Question Number : 142 Question Id : 64635017892 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(a) fawHa i  velv

(b) wERO (i) e g
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(d) F-udigo (iv)  GHECTC &1 34

et fasey g :
L. (a)-(i); (b)-(v); ()-1); (D))
2. (a)-v); (b)-@); (o)-(u); (d)-(1i)
3. ()= (D)Hu); (¢)-w); (d)-1)
4. (a)-(); (b)-); ()~w); (d)-(um)

Options:

4535070263 1
64635070264 2
64635070265 2
64635070266, 4

Question Number : 143 Question Id : 64635017893 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070267, 1
B4E3S070268. 2
64535070263, 3
B4E35070270. 4

Question Number : 143 Question Id : 64635017893 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

6 5 5
afg 4=(3 -11 -5/|,3dr 4| frae suge 87
3 =5 =9

. 13

2. 16
3. 23

Options:

64535070267, 1
64635070268, 2
64535070263 2
4835070270 4

Question Number : 144 Question Id : 64635017894 Question Type: MCQ Option Shuffling : No Display Question Number : Y
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Options:

64535070271, 1
64635070272 2
64535070272 2
4535070274 4

Question Number : 144 Question Id : 64635017894 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

64535070271, 1
4535070272 2
64635070272 2
64535070274 4
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Correct Marks: 2 Wrong Marks: 0
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Difference equation is concerned with
1.  discrete changes
2. contnuous changes
3.  Both of the above

4. None of the above

Options:

64635070275 1
64635070276 2
4835070277 2
4535070273 4

Question Number : 145 Question Id : 64635017895 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
45350702751

BdE3S070276. 2
B4E35070277. 3
54535070275, 4

Question Number : 146 Question Id : 64635017896 Question Type: MCQ Option Shuffling : No Display Question Number : Y
SingleLine Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

A linear programming problem can be solved by using

1 ARIMA techmones



Options:

64535070273 1 v
64535070220 2

4535070281, 2

64635070282, 4
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Question Number : 146 Question Id : 64635017896 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
645350702749 1

B4E35070280. 2
B4E35070281. 3
64635070282, 4

Question Number : 147 Question Id : 64635017897 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

In an open economy input-output model, the viability is examined by
1. Hawkins-Simon conditions
2. Kuhn-Tucker conditions
3.  Dickey-Fuller test

4.  Goldfeld-Quandt test

Options:

64535070283 1
64635070284 2
64635070285 2
RAESEOTOZEE <
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Options:

64535070283 1
645350702384 2
64535070285 2
64635070256, 4

Question Number : 148 Question Id : 64635017898 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Applyving OLS to simultaneous equations results in the parameters being

L. inefficient

5 inconsistent
3.  biased

4. biased and inconsistent

Options:

64535070287, 1
64635070288 2
64635070283 2
E4535070230 4

Question Number : 148 Question Id : 64635017898 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

64535070287, 1 v
64535070288 2

4535070289 2

64635070290, 4
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Question Number : 149 Question Id : 64635017899 Question Type: MCQ Option Shuffling: No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The cost function of a monopolist is C = 40 + 12X, Write his demand function a:
P =060 — 3X. What is his profit maximising output level?

L. 12
2 11
3 8
4. 9

Options:

4535070291, 1
64635070232 2
64635070292 2
64635070294 4

Question Number : 149 Question Id : 64635017899 Question Type: MCQ Option Shuffling : No Display Question Number : Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

% USHIUBR! &1 O Bad & C = 40 + 12X, I961 7T Ba- 39 UeR fftu—
P =60 — 3X, T9P @14 & if¥eaq s9F g (Hiid &1 W s g 2
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3. 8

4. 9
Options:

B4635070231. 1
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A simultaneous equation model is exactly identified, if preep
1.  umque numerical values of structural parameters can be obtained

2. more than one numerical value can be obtained for some of the parameters
of the structural equation

3. unique solution of all the structural coefficients is not possible
4. structural coefficient cannot be estimated

Options:

64535070295, 1
64535070296, 2
64635070297 2
64535070238 4

Question Number : 150 Question 1d : 64635017900 Question Type: MCQ Option Shuffling : No Display Question Number : 'Y
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:
645350702585 1

B4E35070236. 2
B4E350702397. 3
646350702395, 4



